Math 173 - Quiz 1
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Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) The graph of the equation (4 — z)y* = 2*

is called a cissoid. Find a unit
vector normal to the cissoid at the point (2,2).
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2. (3 points) The vector @ has magnitude 4 and makes a 300- angle ‘with the posmve g
axis. The vector @ has magnitude 4 and is parallel to —2i+ j—|—3k Find the component
form of @ + .
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3. (2 points) Find a unit vector orthogonal 8 — 75+ 2k. \\\ 5 /. 3960 + 3. 0(9‘:{/ + 3. 907|<

(- L”c IS orT7THO (EJONAL Jo 17T T -

‘SiNce THE DOT PrzoducT /s 0.

[ (=41 )

(2 points) Suppose @ and ¥ are orth(;gmbrnal to w. Show, or explain how you know, that
3u — 20 is orthogonal to .
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